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{E) Each bar of chocolate
weighs 157 g. How
much do six bars
weigh?

(L) Including the spare,
cars need five tyres.
How many tyres are
needed for 294 new
cars?
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Copy and complete.
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(B Atheatre has 259 seats.
All seven performances
of a play are sold out.
How many tickets have
been sold?

D A plane fiies 1468 km, Its
next flight is nine times
longer. How far is that

flight?

(B Each packet of paper has
436 sheets. How many
sheets are there in eight
packets?

" Work out.
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(P There are eight biscuits
in each packet, How
many biscuits are there
in 12937 packets?

@ 7o prevent flooding
40 582 sand bags are
used. Each bag holds
9 kg of sand. How
much sand is used
altogether?

(D A clothing
manufacturer makes
£6 profit on every coat
sold. How much profit
is made if 29156 coats

are sold?



